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Pythagoras' Theorem Part 2

Solution

6. (a)

(b)

(b)

(©)

Draw a perpendicular line QE.
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SE=16—11=5

QS=13

In AEQS,

QE*+ 5% =13
QE=12

PR=QE=12

Area of the trapezium = % X (16 +11) x 12

=162

In AACD,
CD’ = 12+ 9* (Pyth. Thm.)
CD=15
In AABC,
20° = AB’+12° (Pyth. Thm.)
AB=16
BD=16+9=25
BD? =252 =625
BC? + CD? = 20 + 15?

=625

Since BC? + CD* = BD?
.. ABCD is a right-angled triangle.
(Converse of Pyth. Thm.)

8. (a)

(b)

(©)

In ADFC,

FC* =12*+16° (Pyth. Thm.)
=400

FC =20

EC’=19°+8* (Pyth. Thm.)
EC=5Y17

EF’ = 4%+ 3* (Pyth. Thm.)
EF=5
In AEFC,
EC? =425
EF* + FC* = 400 + 25
= 425
Since EF?+ FC?= EC?
.. ZEFC = 90° (Converse of Pyth. Thm.)

Area of AEFC = % X 20 X 5
=50
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